
⚫I множитель



⚫II множитель



⚫Произведение



⚫М1 х М2 = П



⚫М1 = П : М2



⚫М2 = П : М1



1                                                 Множитель

Множитель

Произведение

 3                             

3                         



    2                                       Множитель

Множитель

Произведение

    3                  

   6               



              4      Множитель

Множитель

Произведение

              3               

            12            



      6Множитель

Множитель

Произведение

     16

    96       


